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Note :

(Write your Roll No. on thé top immediately on récejpt of this question paper.)
Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper..
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| | o Attempt any Five questions.
All questions carry equal marks.
" Use of simple calculator is allowed.
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Wﬁte notes on the fpllm;ving :
() . Sources of data

(i) Scales of measurement.
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Write ﬁotes on the following :

{i) : S.i‘gniﬁcance‘df statistical methods
(v‘ii) Random sampiing.
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Following are the percéntage marks obtained by 60 students in their annual examination :

({) Arrange these obserVatiQns ina Ifrequency distribution table. -

(#) Calculate its cumulative frequehcy and relative frequency'.

(iif) Find out the percentége of students who scored more than 60 per cent marks.

8 64 79 T4 69 Tl
76 76 74 38 62 54
89 34 56 69 56 3l

46 77 91 55 56 74

8 71 47 25 53 79

74 56 62 63 54 42

65
73

47

. 65

39

46

55

75

62

54

66

52

73 .

72

64

38

36

39

40

50

74

32

52

35



( 3) | : 654
et Tt 6o oo g A e A ww s Rww d Ro o™ ¥ ¢
() ¥ ARG F SR foa ot TRy |
(i) %##ﬁ gt Eﬂtﬁﬂn?nlzi eqﬁﬁéﬁﬁ IR T FITC |
i) 60 Y@ ¥ ek @ik Y@ HE A B aj_uﬁnﬂa frepifere |

58 | §4;» 79 7469 71 65 55 T3 40
6 76 74 ‘38 62 54 73 75 T2 50
80 34 56 69 56 3147 62 64 T4
6 71 9l s s T '65' 54 33) 2
s e 25 s 9 66 36 3
“o56 62 63 54-' @2 4 82 B9 35
or
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The annual budget allocation ig a school oh 'variqus héadé is given below. In 201 1,. Scie_.nce

Laboratory, Library, Sports were Rs. 6,25,000, Rs. '2,20,000,.1,88-,000, respectively. Rest
’ | | ' P.T.O.
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amount was Computer Laboratory. The total allocation was 11,27,000. In 2013 thouéh the
total budget allocation reméined same as in 2011, science laboratory budget fell by Rs. 22,000,
library by Rs. 32,000, sports by Rs. 10,000 and computer lab by Rs. 12,000 and rest money
| wés given to Music Lab which was introduced new this year. Arrange the above information
in a tabular form.
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3. The following is the data, about the number of passengers travelling through bus transit

system. Calculate mean, median and mode :

-

Péssehgers _ | Number of days
50—60 3
60—70 T
70—80 18
80—90 12

- 90—100 8

100—110 2
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70——30 18
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The following table shqws the’produ’cti(v)n of rice (hundred tons) in districts A and B for the

past 10 years. Find out which district shows a more stable rice production :

Years . Production of _rice (hundred tons)
| District A District B
£ 2000 30 | 85
2ooi 325 51
2002 41 ~ | 17
- 2003 403 4 42
2004 435 1 14
2005 25 55
2006 521 72
2007 | 62 | 35
2008 52 14
2009 32 ] 254
2010 % | | 25
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fzobo' 30 | 85
- 2061 325 51
2002 41 17
‘2003' 403 42
2004 435 142
2005 25 55
2006 521 72
12007 62 35
2008 52 14
2009 f 32 254
2010 96 25
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4.  Calculate the rank correlation coefficient between X and Y usinvgvthe table given below :
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Or
(3r1gan)

The data stated below shows use of fertilizers and crop yield in a village. Calculate the product
moment coefficient of correlation between the two :

Fertilizers Crop Yield .
kg) . (tons/ha)
75 125
89 137
97 156
69 112
59 107
79 136
68 123
61 108
68 109
62 136
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5 125
89 | 137
Y 156
69 112

59 107
79 136
68 123
61 | 108
68 | 109
62 136
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Find the regression equation from the following data :

(@ XonY
®) Y on'X.
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(o)
Calculaté the mf:afl center éf _the distributioﬁ of urban population (fQOO) for the foilowigg districts.

Plot it on the graph :

‘Districts | X-cbo_rdinate‘ - Y-coordinate Urban Populé_tign (’000)
A | 06 12 » 525
B | 26 2.0 | 566
c | 35 32 | 253V
D | 6.1: - 2.4 §56
E | 25 3.1 | 535
F | 36 5.1 632
G . :4.5 ' 35 '_  258
H | 6}.2' | 3.4 | 612

P.T.O.
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e x-fdemier | | y-fFdviien o THE SEE (000)
| A 0.6 1.2 T 525

B 2.6 | 2.0 sé6

c | 3.5 32 353

Dv' 6.1 | 24 656

E 2.5 j 3.1 535

F 36 | 5.1 632

G 45 . 3.5 258

‘H 6.2 34 612




